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This Question-Cum-Answer (QCA)Booklet eontains 55+ 1 pages. Question Paper in detachable form is
available at the end of the QCA Booklet which can be taken away by the candidate afier examination.

For rough work, blank page.has been provided at the end of this Booklet.

On receipt of the Booklet, please check that this QCA Booklet does not have any shortcomings, torn or
missing pages etc. If, so, get it replaced with.a fresh QCA Booklet.
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Important Instructions

Candidates should read the undermen-
tioned instructions carefully. Violation
of any of the following instructions may
entail penalty in the form of deduction of
marks, cancellation of candidature,
debarment from further Examination of
the Commission etc.
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(a) Write your Registration Number and other
details only in the.space provided in the
Question-Cum-Answer (QCA) Booklet for
candidates.

(b) Do not disclose your identity in any
manner such as, by writing your Name,
Registration number, Mobile number,
Address, Question-Cum-Answer (QCA)
Booklet No. etc. elsewhere in the Booklet
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Do not write in the QCA Booklet anything
other than the actual answer such as couplet,
obscene, abusive expression etc., nor put any
sign/mark having no relevance to the answer.
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Do not make any direct/indirect appeal/threat
to the examiner.
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Do not write answers in bad/illegible
handwriting. Such answers may not be
evaluated.
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Write answers in ink only. Do not use pencil
for writing the answers. However, pencil may
be used for drawing diagrams, sketches, etc.
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Do not write answers in medium other than the
authorized medium in the Admission
Certificate. Do not use mixed language either
i.e. authorize and unauthorized media together
for writing answers.
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Write answer at the specific space (right below
the question) only. Answers written elsewhere
at unspecified places in the booklet shall not be
evaluated.
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If you wish to cancel any work, draw your pen
through it and write “Cancelled” across it,
otherwise it may be valued.
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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.
There are TWENTY questions printed both in HINDI and in ENGLISH.

All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be stated
clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will be
given for answers written in a medium other than the authorized one.

Answers to Questions No. 1 to 10 should be in 150 words, whereas answers to Questions No. 11 to 20
should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Questions-cum-Answer Booklet must be clearly struck

off.
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The Kakatiya dynasty left an indelible mark in the fields of architecture and literature. Discuss
with examples. (Answer in 150 words) 10
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Bal Gangadhar Tilak was instrumental in creating a national consciousness and giving political
voice to the masses during the course of national movement. Discuss. (Answer in 150 words) 10
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The 1929 Lahore session of Congress shaped the vision for an independent India in many
important ways. Explain. (Answer in 150 words) 10
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Explain, in what ways, different historical experiences led countries like China and Japan on
widely divergent paths to building independent and modern nations. (Answer in 150 words) 10

> Chime omde T s fve fBha el
ifr o poreis o T RIF Ouliy

.5 hPe

Mfg aa-@/gwf
=

Hes @i

el T wﬂz’:cg_% MM@"’{%%

oy &

SCopoul v

Cafperiin 5

/\wé&tmot “The.
ool

%«wﬁw»
Chioa g =N M\L‘m%(

o O e

e ATH
-2 M“-’-Wp\&&\% P S o

<éuwmza_»:z’:

—)ﬁ% o &mei

oo Slone, %CLQ_‘
7 p il
2 (D‘L'é xw%agvagzw

L) )([ Xi«aaét‘ﬁa,\,;

> Mxed kb

12




RU;%]
H‘B'fm‘u(gﬁ %M\ Cowv-.i £Cipouie-
o Con %mﬁ% > yon - mili by Sz
S€ hse, b b i e W
S
it sl G e > wed WM
ﬁfa@ %c:ma(m_ i T anficlly
f: e Gn [EFO 5 aw'g’
S .
A l(n fecjvnﬁfag? E
it G| il
2 Cord C%
Corrmtins J
o/fﬂ”%/\ 9% prcolern. rolors wbo sean—
TR ___/}ﬂ;zi(_BUﬁ@,
B Kws s
Cﬁ"jw&: Moleo

~hore G JS gewg

13

Candidates



FA-Sfforae siffaes F=1 82 78 s«-Aar F B wwe e 2 adfty aeas w5y
#r fae=mT FifSrm) (397 150 =51 7 3)

What is Madden-Julian Oscillation? How does it differ from El-Nino? Discuss its impact on
Indian Monsoon. (Answer in 150 words) 10
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What are endogenic forces? Highlight their types and discuss the role played by them in forming
various landforms on the earth. (Answer in 150 words) 10
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In context of the significance of the Himalayan mountain system for South Asia, explain the
factors responsible for melting of glaciers and its impact on the region. (Answer in 150 words) 10
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The COVID-19 pandemic has not only exposed globalisation as highly vulnerable and fragile but
also forced a rethinking on its merits- Discuss. (Answer in 150 words) 10
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In what ways are caste-based inequities still manifested in urban India? Discuss with examples.
(Answer in 150 words) 10
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Menstruation has always been surrounded by taboos and myths that exclude women from many | ;!

aspects of socio-cultural life. Discuss in the context of India. Also, suggest some steps to combat | this margin
these taboos and myths. (Answerin 150 words) 10
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Provide an account of the origin and spread of devotional Bhakti in South India and discuss how

this popular movement expressed itself in the vernacular literature of the south. (Answer in 250
words) 15
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The idea of urban decay in India in early medieval times has been propounded by some but
evidences from various parts of the country suggest otherwise. Discuss. (Answer in 250 words)15
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The

essence of Gandhiji’s constructive programme went well beyond the anti-imperialist | ¢ R

nationalist struggle. Comment. (Answer in 250 words) 15 | s
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Though the socio-political complexities of the Indian subcontinent may have made partition

inevitable, it was the failure of British leadership that led to a bloodbath. Discuss. (Answer in 250
Wwords) 15
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Identifying the factors affecting the location of semiconductor and electronic chip making

1wﬁy discuss the reasons behind their current global shortage. shortage. What steps has India taken in
recent times to support its electronic manufacturing ecosystem? (Answer in 250 words) 15
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o # enfarer whiramsit £ sarear fifsm (397 250 a==51 # %) #
Identifying the active and passive factors affecting pedogenesis, explain the processes involved in | candidates
soil formation. {Answer in"250 words) 15 | mustnot
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Az, fo F1 FUFAT (gt wiw T wE AT aed # AegE-ad kg A Eawar
£ =7 e i oyw Fif fF afas=m £ sy &5 2t § s awa F Al &Et o A
7 aut ¥ wara 1 FErE=e A (39 250 =61 7 9)

Pre-monsoon season in India is characterised by thunderstorms, lightning and many such events.

In this context, explain how thunderstorms are formed and discuss the impact of pre-monsoonal
rainfall in various regions of India. (Answer in 250 words) 15
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usit arehe #1 Ao s s ¥ o vs e 78, afug vw sraegewar a9 T4 81 e
Fiform (397 250 or=a1 7 3)

Diversification of energy basket is no longer a choice for India, it has become a nece551ty
Elucidate. (Answer in 250 wo words)
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THFTA ST G, T F1 IR £ T w0 ) UF agdt Arher sie wfEarst ariuiEw
W%W%ﬁgﬁmﬂﬁqﬁﬁwgaﬁmﬁﬁﬁm (3T 250 91T H )

The contemporary Indian soc1cty finds itself caught at the intersection of a growing aspiration to

mimic the West and a revival of the conservative traditional outlook. Comment. (Answer in 250 s aa
words ) 15 margin
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A & qEdweor | fa@rd & areft yaftdt #1 o § wad gu, uw oy afs & agdd
TISET 3T TFET FT AREAT F4 8g UF 9% qgdson fify F fo ageagt f=et o ==t
#ifSrm (397 250 o=a1 7 F)

In view of the visible trends in India's urbanisation, discuss the key considerations for a new
urbanisation policy to guide the planning and management of cities in a sustainable manner.

(Answer in 250 words) .
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